MAT 035, Paper Test #2

Instructions: Show all w
unless specifically askeo
each question.

1. Simplify =3(x +4) — (9 — x). (3 points)
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2. Solve%x +1= %x + 7. (4 points)
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3. Solve3(x —2) = 2(x 4+ 5) — (7 — x). (3 points)
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4. You have to invest $40,000. If you invest a certain amount in stocks earning 10%, twice that
amount in bonds earning 5%, and the remaining amount in CDs earning 1%. How much did you
invest in each investment if you earned $2480 in interest? (  points)
X i 0% sloekns . JEX +400 = 24%D
2K e ST lndo «I#X = 20%0
40,000 3% i CD X = [2,23S,29 Slode
- bouds
L10X % .0S(2K) + .01 (40,000 ~3x)l=24%0 2%, 470. ST we

o 20

N

+400 -, 03% T 24O

321%.13 v D,

5. You have $25.00 to spend on parking for the day. A downtown lot charges $7.00 to park, plus $4

for any addition

| portion of an hour. How many hours can yt
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>u park your car in that lot? (5 points)




6. Solve 9x + 11 > 2x — 7. Write your solution in a) set notation, b) on a number line, c) in
interval notatiT. (6 points) '
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7. Graph the following points on the graph below. Label each pipint. (5 points)
A(Z, _3)1 3(013)1 C(‘_Z! —'5), D(453)! E(—S,O), F(—“Sll)
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8. Circlethealue of the strongest correlation. (2 point) i
a. —0.903 b.0.819 c.2.54x107* - d.0.01 e. —0.49
i .

9. Circle the value of the weakest correlation. (2-pein '
b. —0.903 b.0819  £254x100) | d.001 e. ~0.49
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12. Graph the equat
intercepts of the
(4 points)

on 2x — 3y = 18 using the
graph. Clearly label both.
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correlation of the graph below is nearly zero.' (2 points)
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'13. Graph the equation y = 24, (4 points)
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14, Find the slope o

15. Find the equatio

16. Data is shown i
quantity sold (y)

and advertising (x). (6 points)

Quantity Sold Price Advertising
8500 $2 $2,800
47700 S5 $200
SF'DO S3 $400
7400 $2 $500
6E00 S5 $3,200
7300 S3 $1,800
5600 4 $900

Interpret the slo

pe in the context of the problem.
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f the line connecting the points (=1, —7) and (—3, —5). (3 points)
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n of the line withm = -%,b = 3. (2 points)
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y = ERED

the table below. Find the linear regression equation and correlation between

Y= 15733 X+ S69%.29
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